AP Stats
Chap 5
Handout

         Name ______________________________________________   Pd _______
[image: image1.emf]Car Fuel Efficiency.
Suppose a Normal model describes the fuel efficiency of cars currently registered 
in the Commonwealth of Pennsylvania.  This model is represented by N(24 , 6).

1.  Sketch the Normal model.

2.  What percent of all cars get less than 15 mpg?

3.  What percent of all cars get between 20 and 30 mpg?

4.  What percent of cars get more than 40 mpg?

5.  Describe the fuel efficiency of the worst 20% of all cars.

6.  What gas mileage represents the third quartile?

7.  Describe the gas mileage of the most efficient 5% of all cars.

8.  What gas mileage would you consider unusual?  Why?

9.  An ecology group is lobbying for a national goal calling for no more than 10% of all cars to be under 

20 mpg.  If the standard deviation does not change, what average fuel efficiency must be attained?

10.  Car manufacturers argue that they cannot raise the average that much – they believe they can only get 

to 26 mpg.  What standard deviation would allow them to meet the “only 10% under 20 mpg” 
goal?
11.  What change in the fuel economy of cars would achieving that SD bring about?  What are the 

advantages and disadvantages?

Class Size.
During a budget meeting, the school board members decide to review class size information to determine if budgets were correct.  Summary statistics are shown in the table.

12.  Notice that the third quartile and maximum class sizes are the same.  Explain how this can be.

13.  The school district declares that classes with enrollment fewer than 20 students are “too small.”  

Would you consider a class of 20 students to be unusually low?  Explain.

14.  The school district sets the office supply budgets of their high schools on the enrollment of students.  

The district budgets each class $12 plus $0.75 per student, so a class with one student receives 
$12.75 and the classes with 40 students receive 12 + 0.75(40) = $42.  What is the median class 
budget for office supplies?  What is the IQR?

15.  What are the mean and SD of the class office supply budget?
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Post Office.
The Postmaster of Lewistown’s Post Office believes that a Normal model is useful in 

projecting the number of letters which will be mailed during the day.  She 

uses a mean of 20,000 letters and a SD of 250 letters.  (It’s a busy Post Office!)  

16.  Draw and clearly label this model.
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Light Bulb Life.
Light bulbs are measured in lumens (light output), watts (energy used), and hours (life).  A standard white light bulb has a mean life of 675 hours and a standard deviation of 50 hours.  A soft white light bulb has a mean life of 700 hours and a standard deviation of 35 hours.

17.  At a local science competition, both light bulbs lasted 750 hours.  Which light bulb’s life span was 

better?  Explain.

Employee Work Times.
At a large business, employees must report to work at 7:30am.  The arrival times of employees can be described by a Normal model with a mean of 7:22am and a SD of four minutes.  

18.  What percent of employees are late on a typical work day?

19.  A psychological study determined that the typical worker needs five minutes to adjust to their 

surroundings before beginning their duties.  What percent of this business’ employees arrive early 
enough to make this adjustment?
20.  Because late employees are a distraction and cost companies money, all employees need to be on 

time to work.  If the mean arrival time of employees does not change, what SD would the arrival 
times need to ensure virtually all employees are on time to work?

21.  Explain what achieving a smaller SD means in context of this situation.
